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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-4 0
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47 -
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46 1 —-— MW
T T T T T T
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5 -
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52.

51.
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52.
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0
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5
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5
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5
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P3-4

BfiE) | GEBATK (FY) | EHE (EARA/K) (XS R

06:35 278 150.0 & =| 1Ri%@06:35 Bzh (KAHEREE)
07:10 278 150.0 & =| 1Ri%e07:10 Bz (kBIEREEE)
07:55 278 150.0 & =| 1Ri%e07:55 Bz (kABEREEE)
09:05 278 150.0 (Z=| {Ri%@09:05 Bz (FREAHEHSE)
09:50 278 150.0 & =| 1Ri%@09:50 B (kAEREE)
10:35 278 150.0 & =| 1Ri%e10:35 Bz (kAEREE)
11:10 278 150.0 (& =| BRige11:10 Bzh (REERESE)
11:50 278 150.0 (& =| 1BRige11:50 Bzh (REEREE)
12:30 278 150.0 | =| 1Ri%e12:30 Bz (kAEREE)
13:10 278 150.0 FH| 1Ri&@13:10 B3 (RS
13:45 278 150.0 FH| 1Ri&@13:45 Bz (RAHERESE)
14:15 278 150.0 FA| 1Bi&e14:15 B3 (RAEREE)
14:45 278 150.0 FA| {Ri&@14:45 Bz CGRAERESE)
15:20 278 150.0 (& =| 1BRi&e15:20 Bzh (REERESE)
15:55 278 150.0 (2 =| {Ri&e15:55 Bz (RAERSE)
16:40 278 150.0 & =| 1Ri%016:40 Bzh (RPBEREEE)
21t 4448.0 (16)%) 2400. 0 3203 KEC: 2080.0, PH: 5.7

[E;&EC 5373.0 K5, EiNF{KECAE & M%ER

#H[EKECE (2393.0 vs 5373.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=59 (2025-05-27)

L e e o e e e e o e o B roet L 3000
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2685
2300 340
100 A 1790 003 2000
1500 512
50 - 1000
60
08 Warning: lcol [FVI',| "FVO’'] missing
0 + - 80
200_( . v ME P
FRV maxM
O s s S —— | S e S — -it— e I e e S E—— L o5

——
——
M

[
1

100 -
il

4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.7 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
] B B B ) 4000
Bylnl‘l’.I @D61 01:48: ET=2143 Fg=2850.0 Ro=588.0
300 7 L 3000
200 1 - 2000
100 - 1000
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 —2000
Zgn|lzz| B | B | B | B | B 5 | BB | BB i 5 5 g | BB | BB | B 5 i 5 5 5 B 5
300 A i L 3000
ByEt @D59 19:08: ET=2231 Fg=2340. 0 Ro=nan :
- 2000
[ 1000

0 [ 1 2 ] 3] 41 51 6] 7181 9 [ 1011 [12]13][1a]15]16] 17 ] 18] 192021 ] 22 25 | %000
25|25 |2 (2R 25|25 |27 (25| B (25|27 (27|25 B | B [ZR|2E|25 |22 (25| B | B | BB

300 - 1 - 3000
ByWon: @61 01:48: ET=2003 Fg=2400.0 Ro=496.0
200 - 1
1 1 - 2000
: /n/l i rors
100 A : - - 1000
1

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.6

0.4+

0.2~

|
| _obs
PPFD_obs

| — FRH N
80 1 LN @® RH obs
o RHo_obs
60 Ny Aw

40 -

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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19.5 ~

19.0 A

18.5
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18.

18.

18.

18.

18.

18.

18.

19.

19.

19.

19.

19.

18.

18.

T T T T T T
500 600 700 800 900 1000

m=585,m FV0=0
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65
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55 ~

50 -

45 ~

40 ~

—o— M_E

m

T T
585 590 595

m=740,m FV0=0

20 A
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05 ~

00 -

95

90 -
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m=889,m FV0=0

19.7
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19.5

19. 4 ~

19. 3

-—o— M_E

i
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18.

18.

18.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

m=465, FV0=0

Warning: col ['M_E'] missing

m=625, FV0=0

T T
0.2 0.4 0.6 0.8

—o— ME

650 Bé5
m=775,n FV0=0

—o— ME

7é0 7é5
m=915,n FV0=0

1T —e— MmE

920 925

m=500, FV0=0

18.1 ~

18.0

17.9 A

17.8 4

17.7
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18.
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T T
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m=805,m FV0=0

50 A

45 -
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35 A

30 -
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20 -

8%0 8{5
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90 ~

85 -

80 ~

75 -

70 -
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60 -
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45

40 A

35 -

30 A
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05 ~
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60 -
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45 -
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35 A
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80

75 -
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60 -

m=535, FV0=0
-e— ME
535 540 545
m=705,m FV0=0
-e— ME
705 710 715
m=840,m FV0=0
-e— ME
840 845 850
m=990,m FV0=0

-o— ME
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50.
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49.

49.

51.

51.

50.

50.

49.

52.

51.

51.

50.

50.

49.

49.

m=465, FV0=0

1.0
—0— MW
52 - 084
51 0.6 -
50 0.4 -
49 - 0.2 A
Warning: col "M W 1] missing
48 T T T T T T 0 0 T T T T
500 600 700 800 900 1000 0.0 0.2 0.4 0.6 0.8 1.
m=585,m FV0=0 m=625, FV0=0
5 —— MW —— MW
51.5 1
0 -
51.0 A
5 -
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0 -
50. 0
5 -
49.5 -+
0 - T T T T T T
585 590 595 625 630 635
m=740,m FV0=0 m=775,m FV0=0
52.0 -
—o— MW —— MW
57 51.5
01 51.0 -
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01 50. 0 -
57 49.5
740 745 750 775 780 785
m=885,m FV0=0 m=915,m FV0=0
0 - 52.5
—— mw —— MW
% 52.0 -
0 -
51.5 1
5 -
0 4 51.0 +
> 50. 5 -
0 - T T T T T T
885 890 895 915 920 925
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—— MW
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—o— MW

i

8%0 8%5
m=950,n FV0=0

-o— MW

i

955 960
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51.

50.

50.

51.

51.

50.

50.

49.
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51.
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50.

50.

52.

52.

51.
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50.

m=535, FV0=0
—o— MW
5 -
0 -
5 -
0 -
535 540 545
m=705,m FV0=0
;| —o— MW
0 -
5 -
0 -
5 -
705 710 715
m=840,m FV0=0
01 —e— MW
5 -
0 -
5 -
0 -
840 845 850
m=990,m FV0=0
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0 -
5 -
0 -
5 T T T
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P3-4

BfiE) | GEBIETIC (F) | EHME (BEAH/K) | XK R

07:25 278 150.0 = {RRiB007:25 B (REAKEE)
08:10 278 150. 0 E BRi%e08:10 Bzl (RAERE)
08:55 278 150.0 F  1BRi%e08:55 BE1 (RAEREE)
09:35 278 150.0 = {RRiB009:35 B (REAKEE)
10:20 278 150.0 (Z=| 1BRiZ@10:20 Bzh (REERESE)
11:00 278 150.0 S {Ri%e11:00 B3 (GRAERSE)
11:40 278 150.0 =l RRiB011:40 Bz (REAKEE)
12:20 278 150. 0 E BRige12:20 Bz (GRAERESE)
13:00 278 150.0 5| {Ri%e13:00 B3 (RAMERSE)
13:40 278 150.0 5| 1Ri%e13:40 BE1 (REMERER)
14:25 278 150. 0 E BRige14:25 Bz CGRAERESE)
15:30 278 150.0 5| {Ri%e15:30 B3 (RAERSE)
16:50 278 150.0 =l RRiB016:50 B (RFAEEE)
23t 3614.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

##[EKECE (2370.0 vs 5063.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=58 (2025-05-26)

e ey e e e e s e E————— p————— —————— 3000
Ndo VOIRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
100 - 765 1790 | 2000 7T
1500 56633 f
E
50 - - 1000 2
L
60 Warning: lcol [FVI',| "FVO’'] missing 08
0 rgo
200_( . v ME P
FRV maxM
180 === ——— ) i et i s e e e i i e s s ey et L o5
(NN
AR |
100 - =
INERRARIN
1.0
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
909— 1 4
Bylnit:@D61 01:48: ET=1887 Fg=2400.0 Ro=505.0 - 3000
300 - : s
1 o
! L 2000 =
200 - ! E
| —
100 4 i L 1000 o
| 3
» o o o
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iE | B | B | B | B | B|[mB|B| B | B i 5 5 5 5 | BB | BB 5 i 5 5 5 i & I 3000
300 - 1 S
ByEt @D58 19:11: ET=1709 Fg=1560. 0 Ro=nan : -g
! L 2000 =
200 ~ E
'—
100 4 L 1000 o
3
p—— =]
408: 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
iE | B | B | B | B | BB |B|B| B |2 B 5 5 B 5 5 5 |Z=| XM | B |ZZ|%Z| BE |3000 5
300 - 1 S
ByWon:@D61 01:48: ET=1533 Fg=1950.0 Ro=394.0 -g
! L 2000 =
'—
100 4 I - 1000 2
1
p— o 1o e —e o o e °
1.0 Pt la - o o & — 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
BB BRI RBIB [ BB B R B (2B | B R BB B %250l 2222 "
0.6 -
0.4 1
0.2 A
|
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60 -
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[ ) RHo_obs
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—e— ME
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T T T T T
500 600 700 800 900
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T T T
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m=800,m FV0=0
1921 _o e
19.1 -
19.0 -
18.9 -
18.8 -
800 805 810
m=470,m FV0=0
—— MW
50 -
49 -
48 -
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470 475 480
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T T
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m=665,m FV0=0
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65
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m=575,n FV0=0

885

51.5 4
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P3-4

BfiE) | GEBEETIC (FD) | EHM=E (EAH/K) | XK R

07:20 278 150.0 F[ BRi%e07:20 Bz (GRAERSE)
07:55 278 150.0 S| {Rig@07:55 B (RAERSE)
08:30 278 150. 0 E  1BRi%e08:30 Ba1 (RAERE)
09:05 278 150. 0 E|  {Ri1&@09:05 B3h (RFE{ERLEE)
09:50 278 150.0 & 1RiRe09:50 B (KREAERE)
10:35 278 150. 0 F BRi%e10:35 Bz (GRAERERE)
11:15 278 150.0 S {Ri%e11:15 Bz (GRAERSE)
11:55 278 150.0 = RRiB011:55 Bz (REAKEEE)
12:35 278 150.0 | 1Rike12:35 B (REAERS)
13:15 278 150.0 5| {Ri%e13:15 Bz (RAERSE)
13:55 278 150.0 5| {Rike13:55 B (REAERS)
14:30 278 150. 0 E BRige14:30 Bz (GRAERESE)
15:05 278 150. 0 El 1BRi&e15:05 Bz CGRAERESE)
15:40 278 150.0 =l RRiB015:40 Bz (RFAEESE)
16:25 278 150.0 S| {Ri%e16:25 B (RAERSE)
2it] 4170.0 (15)%) 2250. 0 3 IHKEC: 2080.0, PH: 5.6

FHERECE (2323.0 vs 4609.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=57 (2025-05-25)

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

e ey ey e e e s e —— E———— e ——— ——————— 3000
VI, Ve &RV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 9300 25°f84
2000
100 - 662 767 2000
50 - - 1000
00 Warning: lcol [FVI',| "FVO’'] missing 60
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(
200 +
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100 +
50
1.0
1
0. 8 A
0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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: - 2000
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p— S 1S
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1
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cumET (ml/plant)



m=435, FV0=0 m=500, FV0=0 m=560, FV0=0

1781 o 4t 18.20 o 18.40 o ¢
17.7 18.15 1 18. 35
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19. 05 - 19.1 -
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18. 80 - 19.10 -
18. 95 - 18.9 -
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18.70 - 18. 90 - 18.8 - 19. 00 -
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19.40f g\ 19401 o ¢ 19301 o ¢ 50 |
19. 35 -
19. 35 - 19. 25 - 511
19. 30 -
50 -
19. 25 - 19. 30 - 19. 20 -
49 -
19. 20 -
19. 25 19. 15 48
19.15 4
47 -
19.10 - 19. 20 - 19.10 - - N
915 920 925 955 960 965 1015 1020 1025 600 800 1000



51.

51.

50.

50.

49.

52.

51.

51.

50.

50.

49.

52.

51.

51.

50.

50.

50 A

49 ~

48 -

47 -

m=455, FV0=0

M_Ww

4é0 4é5
m=645,n FV0=0

455

—— MW
5 -

6%0 655
m=795,n FV0=0

—— MW

860 865
m=955,n FV0=0

795

-— MW

it
=

0 =

955 960 965

51.

51.

50.

50.

49.

51.

51.

50.

50.

49.

51.

51.

50.

50.

49.

49.

52.

51.

51.

50.

50.

m=500, FV0=0

—— MW

565 5%0
m=685,n FV0=0

—o— MW

i

GéO 665
m=840,n FV0=0

5 —— MW

8&5 850
m=1015m FVO=0

840

-o— MW

1015 1020 1025

51.

51.

50.

50.

49.

49.

51.

51.

51.

51.

51.

52.

51.

51.

50.

50.

m=560, FV0=0

—— MW

565 5%0
m=720,n FV0=0

—0— MW

726

T T T T
728 730 732 734

m=875,m FV0=0

—0— MW

875

880 885

51.

51.

50.

50.

49.

51.

51.

50.

50.

49,

52.

51.

51.

50.

50.

m=605, FV0=0

——

M_w

605

6%0 6%5
m=760,n FV0=0

—o—

M_W

760

765 7;0
m=915,n FV0=0

——

M_W

915

920 925




